Jooobooogouooboogd
O od

g gobgod

2‘3 g'g _<-o.2373 -0.1576 0.2526)
103 978 0.2307 0.1835 -0.1709

O svdDOOOOOOO0O00O0O
<o.34 0.65 o.23>
A= 0.67 0434 0.765 U=0 V=0
134 356 0.765

w=svd(A, U, V)

(—0.189 0.110 0.976> (-0,369 0.498 0.785
U= V=

-0.202 0.968 -0.149 -0.900 -0.401 -0.168 w={4.034, 0.772, 0.021}
-0.961 -0.225 -0.161 -0.231 0.769 -0.596

O eigen 00000000 DODOOOOO
goboboboodgobdabd

5 3 8 _
M=l 3 7 9 v=0 w={21.609, 2.932, -2.541}
8 9 10 w=eigen(M,v)
<-0.443 0.715 0.541 )

-0.534 -0.695 0.481
-0.720 0.076 -0.690

O gbobooobouobugbobod

ggboboboouobboooboboooboboooobooobbobooooo
goboobobooooobboobbbooobn

20?2 7?2 7
I I T gooogoono
2 0?2 7?2 7
5 92 2 9 goooogooodg .
87 N5  2.5647 — 10
N5 2.5647 57 10 97
- ° 4% 8+7 logl0 sinl0 cos30°
4x 8+7 logl0 sinl0  cos30 000o0o0o0on 9
-5375 0 ez 2
oooooong -5375 0 ez 28
16000 A5 13 411 g

16000 A5 13
oDo0doobogbogbdn

J5 | 25647 -g 10
gdoddoon
00o000ono 4x8+7 logl0 sinl10 cos30°
oo
- 2
0oOoO00O0000000O0On 5375 0 e 2°
000000 0000000000 16000 | 5 13 iﬁ
NS 2.5647 87 10 ?

97
4x 8+7 logl0 sinl0 cos30° ?

-5375 0 e? 23 ?



